B 760 5% 0 IR B A R
WA ;202246 H18H (+)~6H19H (H)

No. 28 ZF 50m HH

BRI BRSH TiRE

245+ (50m)

iz

B A L L— R R

1/2

REERDER 29.99

EhI K 4 T B 2E KE B

1 AR\ RRRH R =2 10/ 5 27.73 9%
*E V%

2 HA Wz R H AT =3 10/ 3 27.83 9%
S Yok

3 HH MAE HR R R w3 10/ 6 28. 01 9%
S ok

3 A WlyE 5 I K Eiifl =1 10/ 7 28. 01 9%
S ok

5 Mk W 5% K Eiifl =3 10/ 4 28.16 ik
A Yok

6 EH EiZE i =2 10/ 8 28. 89 8k
S Yok

T A 5% Fr K Hi il =) 9/ 5 28.98 81k
S ok

8 #Rk B Z2EwN il mloo10/ 1 29. 21 8k
S ok

9 /g ES & d = 52 9/ 4 29. 22 8k
S Yok

10 P £ FRAT =3 9/ 1 29.50 Tk
S Yok

11 BT+ Eislze 52 9/ 7 29. 82 7%
S ok

12 FH ¥y Z2EwN ) =) 9/ 2 29. 85 4%
S ok

13 #8yT  MLs Z2E wN il =8| 9/ 3 29. 88 TH%
o Yok

14 JbJR E&AE = =3 9/ 8 30. 54 6%

15 g B £ R =3 8/ 4 30. 60 65%

16 mij)ll 4K KH = 8/ 5 30. 61 6%

17 ZE A FRAS =2 8/ 6 30.70 6#%

18 JEHBHH & Fi e 52 8/ 3 30.72 6%

19 KZEETH I (W) =2 8/ 2 31.08 6%

20 1% =y HEFi 53 7/ 5 31.56 55

21 HH FY Ay =] ml 6/ 6 31.97 5k

22 A HEE H o G =3 7/ 3 32. 34 45

23 NNk FEYE ok =l 8/ 8 32. 64 45

24 FAIRF  FERk & H =l 5/ 2 32. 71 4%

25 Ok K&K MRS =3 4/ 8 32.83 45

26 A HE KH =) 5/ 3 32.90 45%

27 BN fhA (53 =3 7/ 7 32.96 45

28 HIH A HE F =2 7/ 2 32.98 4%

29 Pk #E NSV =3 5/ 1 33.07 3%

30 BEHH  HASE HEFn =2 6/ 7 33. 21 A%

30 nfE  JHAY £ =3 6/ 8 33. 21 35K

32 HALLZE kAR E =2 7/ 6 33.23 45

33 VHH AW KH =3 6/ 4 33.70 3k

34 ELH ERE = M 52 5/ 8 34. 44 2%

35 ¥ H &=/ ok =3 6/ 1 34.96 Lk

36 L& oF A =2 5/ 1 35.35 2%

37 HR [ = = 1/ 3 35.58 1%

38 AKEp M ok =) 2/ 5 36. 52

39 [UH M5 MEAS =3 3/ 3 37.48

40 B[R NV =2 2/ 1 39. 62
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7600 N R S SRR AR E K4 R RS 2/2
WA ;202246 H18H (+)~6H19H (H) 2%+ (50m)

No. 28 % F 50m BHH B A L L— R R
E 29. 99
IBf K 4 T B FE KK =
41 Tl EME MEAS Ei3 2/ 3 41.07
42 IR H/HE nEs Vi i3 1/ 4 42.74
OPN 3% Hik HU R R El 10/ 2 28.13 9%k
w5 sk
OPN ZKJ: Z3E A NN =2 9/ 6 30. 21 Tk
OPN [dlHH &4 2K =S| 8/ 1 30. 34 T
OPN +J5 MK Z2EwN ) =8| 8/ 7 31.03 65
OPN hnpg Hik V2wl = 7/ 4 31.99 5%
OPN JIllg  SE3% Ay =3 6/ 2 32.34 5%
OPN /i BEAE Ay =] =) 6/ 3 33.20 45
OPN HFi 2w L wN ) 3 6/ 5 33.22 3%
OPN LA 33 REF0 = 7/ 8 33. 31 45%
OPN /]NEE L %EE% = 4/ 5 34.18 3%
OPN KEHH 17 =3 7/ 1 34. 51 2%
OPN FE4  ERIL %%ﬂiﬁﬁﬁ@l =l 5/ 4 34.88 25k
OPN it =< 5 HE i = 3/ 5 35.35 2%
OPN [LH #3 = H 52 5/ 6 35.62 1%
OPN [Lilg  sEi KH =2 4/ 3 35. 68 1%
OPN {r] By e 1 RE T = 4/ 1 36.04 1%
OPN &R B8 =1 =3 4/ 7 36. 55
OPN AL TR ok 52 4/ 4 36.73
OPN &K ME#fE (53 =3 3/ 2 36. 82
OPN filJ/l  P3e (53 =3 3/ 1 36. 84
OPN =4 252 53 =2 3/ 6 36.99
OPN Ay —ifH HEFn =2 3/ 7 37.59
OPN JEi% 3% iEFn = 2/ 4 38. 44
OPN /AHf ZHEH = H =2 4/ 6 38.78
OPN A > & (53 52 3/ 4 39. 71
OPN (L] Hh 52 5% 7k Ay =] = 1/ 6 39. 96
OPN fiiJit #3356 ok &3 2/ 2 40. 73
OPN f&f "& ok 53 3/ 8 41.52
OPN HA 2 MEAS = 2/ 8 42. 54
OPN [Lif¥ Fn¥ Ay = 1/ 2 44.79
OPN #H A9 = RE T = 2/ 1 45. 68
OPN 7Ef] #E ok =3 1/ 5 47.17
OPN JtH &7 £ R = 1/ 7 52. 44
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